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M.AULANA ABUL KALAM AZAD UNIVERSITY OF

TECHNOLOGY WEST BENGAL .
. Paper Code : BBA-403

‘ FINAN CIAL MANAGEMENT I
szeAllotted 3Hours = o Full Marks : 70

The ﬁgures in the margln lndtcate full marks

Candldates are requzred to gzve their answers in their own
| B “words as far as practzcable
GROUP A
| Multiple Choice Type Questions )
1 Choose the correct alternatlves for any ten of the R
| followmg e 10x1-10,

i)_ The act of ‘buying an  asset or securlty in one |

| 1}

market havmg lower price and selhng the same in L

another market havmg hlgher price is known as

9

a) : levered pay-off "
= b) ',_asset;stnppxng
c) ,arbitrage :’
d) put foqucd by a call.
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i)

At the -point: of optlmum capltal structure the

- welghted average cost of capltal is -

a) maximum . b) mlmm_um'

o equal B ‘constant

~‘a) Net present value '

: The rate of return or dlscount factor that equates -
the total present value cash inflows to the total

present values of cash outﬂows is known as

b) Paybackv perrod o

- C) Avera'ge'rate of return .

s d) Internal rate of return.

v

"Modxgham and Mlller s model of d1V1dend pohcles is

s based on the assumptlons

4 a) the firm has a perpetual life

b) . the firm operates ina perfect capltal market

- C) the ﬁrm has an 1nﬁn1te life

d) p the firm is an all- equlty firm.

' The doublmg per1od n glven a rate of retum rcan

,i be calculated by o
g (erPez b 2
9 o 35+§2 © d) allofthese.
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vi) Ifa?2 year redeemable bond 18 purchased and held‘ s
' till maturlty, the rate of return earned 1s cal]ed
Y Coupon rate '
. b).. Required rate of return -
) Yield to ‘maturity :
d) Current y1e1d , , L
ovii) If current year's dividend ‘s Rs 2 40 growth rate
for the company is 10% and the requlred return on
the stock is 16%, ‘then the 1ntr1ns1c value of the
stockwillbe , | |
. a) Rs. 44 ,~ a b} Rs. 40
¢ Rs.24  .d) Rs 1650.
‘ viil) The constant growth model of equ1ty valuatlonw-
- assumes that ‘ SRR
a) - the dividends paid by the company remain .
| constant C :
. b) -the d1v1dends pa1d by the company grow at a
| - constant rate of growth ‘ : o
" ¢) the cost of equity may be less than or: equal to )
~ the growth rate ' ) -
d) noneof these
: ix)  With contmuous compounchng .at 8 per cent for
201 years, e;what is the approx1mate future value of a |
_-$20 000 initial 1nvestment ?
&) $52, 000 by $93, 219 o
¢ $99,061  d) None of these
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x) A prQbablhty index (PI) of O 92 for a pro_]ect means -

" that-

~ the present value of the project’s_ benefits
'b). the project's NPV is greater than zero
c¢). the project's NPV is _grea_tér than 1

"for each current dollar 1nvested (cost).

xi) .The LMN Corporatlon is cons1der1ng an. 1nvestment
~ that will cost $80, 000 and have a useful life of
‘4 years. \Dunng the first 2 years, the net

year and for the last two years that are $20,000 per

~investment ?

| &) 32years b) 35years :
‘ ) .,4’-years' -'d) None of these. o

- '( Short Answer Type Questions )

max1m1zatlon B

i n 3. From the followmg partlculars compute earmngs per
1 ~ share of XYZLtd. : : :

Capital structure
- 20000 Equity shares of Rs 10 each fully pa1d
10%, 1600 Debentures of Rs. 100 each
EBIT Rs. 1,00,000
| Tax rate @ 50%
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a) . the project's cost »(cas_h outlay) is/ are less than |

' d)' - the project retur’hs 92 cents is present value .

incremental after-tax cash flows are $25,000 per

 year. What is the payback period for this

v Answer any three of the followmg 3 x 5 = 15' 
2. Dlstmgulsh between profit maxxmlzatlon and wealth
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| What is workmg capital cycle ?

From the following information, calculate the . market. -
' pnce of each share of ABC Ltd. under Walter's model :

Earnlngs per share ' | ~ Rs.5 -
‘Dividend per share _' .- . Rs:3
Cost of capital L 16%

' Internal rate of return on 1nvestment 20% .
Retention ratio ' RTINS 50%

‘Dlscuss the 1mportance of capltal budgetmg

" GROUP - C
| Long Answer Type Questions )

Answer any three of the following. 3 x 15 = 45"

A company is . considering an investment proposal to
purchase a machine costing Rs. 2,50,000. The machine

- has a life expectancy of 5 years and no salvage value.
The ‘company's tax rate is 40%. The firm uses straight
~ line method for providing depreciation. . The estimated -
" cash flows before tax rate after deprec1at10n (CFBT) from
~the machine as follows ’

Year . 'CFBT (Rs)
1 . 60,000
2 . 70,000
3 90,000
4 R ~1,00,000
5 . ~1,50,000

Calculate : (a) Pay-back period; (b) Average rate of
~return; (c) Net Present Value and Profitability Index at

10% dlscount rate. You may use the follow1ng table :
“Year 1 2 | 3] 4 [.5

4/40232 5 . [Tumover

http://www.makaut.com

P.V. Factor at 10% | 0-909 | 0:826 ] 0751 | 0:683 | 0621 |
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. ,XYZ Company has currently an equlty share cap1tal of

Lol wtorain e s it

’_'Rs 40 lakhs -consisting of 40, 000 equlty shares of
Rs. 100 each. The management is planning to raise

- another. Rs. 30 lakhs to finance a major programme of -

fexpansmn through one of the four . poss1ble ﬁnancmg_
plans. The options are ' :

1) Entlrely through equity shares i

o i) Rso 15 lakhs in equity shares of Rs 100 each and

~ the balance i 1n 8% debentures.

. iii) Rs 10 lakhs 1n equlty shares of Rs 100 each and»
’ the balance through long term borrowmg at. 9% .
‘ interest p.a. :

iv) Rs. 15 lakhs in equlty shares of Rs. 100 each and
- the balance through preference shares w1th 8%
dividend. ‘ : :

The company’s EBIT will be Rs. 15 lakhs. Assuming
. cOrporate tax rate of 50%; you are required to determme-
the EPS and comment on the Financial leverage that

.will be authonzed under each of the above schemes of

financing.

.. From the followmg 1nformat10n prepare a .Workmg»
Capital statement showing the working capltal required
to ﬁnance a level of activity of 10400 umts per annum.

a) Sellmg price is Rs. 5 per umt ‘
'b‘)‘ | ,The expected ratios of cost to sellmg prlce are_:
i)/ Raw materlals 40% ' ’
ii)‘ v, .DlI'CCt Wages 10%
| i) Overheads. 30% :
" iv) Profit 20%
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Raw materials are expected to remain in store for

~an average perlod of 2 months before bemg issued

“for production and materials” are in process on an .

- 'average period of 6 weeks

T

leshed goods w111 stay in store approximately f_or _'

-6 weeks before dlspatch to custOmers

g)

h

10." a)

by

e
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‘Cred1t allowed to. debtors is for a perlod of -
2 months.: TR = ‘ :

Credit allowed by credltOrs is for a - perlod of o

2 months.

Lag in payment of waves and overheads are for a
perlod of 2 weeks. '

‘ Cash in. hand and at Bank 1s expected to be -
- Rs. 10, OOO | ‘ -

It may,“ be vnoted that production is carried on
evenly during the year and wages and overheads -

accrue similarly Assume' 4 weeks 'in ‘a month.

’Why is  M-M -model of dmdend pohcy called . )

' d1v1dend 1rrelevance theory ?

»An engmeenng company ‘has ‘a. cost of equlty. '

capital of 15 per cent. The current market value of
the ﬁrm is Rs. 30,00,000 (@ Rs. 30 per share). The
firm also plan to new investment for Rs. 9,00,000
in a prOJect The company is expectmg a new

‘earnings of Rs. 5,00,000 and total dividend of Rs.

3,00,000 towards end of the year. Show that under

the MM assumption the payment of d1v1dend does

not affect the value of the ﬁrm . 5+ 10
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11 Susheel Ltd has the followmg capltal structure " IR

o Type of Capital B Amount
- | Equity capital ( 1 lakh shares Rs. 10 lakhs
| @ Rs. 10 each ) '
1 11% preference capital ( 1000 shares Rs. 1 lakh
@ Rs.. 100each) N - o
- | Retained earning ' Rs. 12 lakhs
| 13:5% debentures ( 5000 debentures Rs. 5 lakhs
‘@Rs. 100 each ) | .
12% term loan - |Rs.8lakhs |
- Lo ~Total | Rs.. 36 lakhs

i

L3N

. The expected d1v1dend on equlty share ‘is Rs. 1- 50
' - which is expected to grow @7% The market pmce of
the share is Rs. 20

“ '. . “The preference share redeemable after 10 years is .
‘ currently selhng at Rs. 75 per share. '

. { { The debentures redeemable after 6 years are selllng
- at Rs. 80 per debenture. ‘ | |

: : . z
« Thetax rate apphcable for the company is 50%

- ".Compute the WACC of the company

12, erte short notes on any three of the ,fo,lllowing ;. 383x5
'b) Optimum cfash: balance ;

c) Optimal capital structure
d)  NOI approach | |

e) .Determmants of caplta} structure

,". f)  Goals of credlt management
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